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1
1. The value of y— 3[2z —4(3z —y)] when z = z and
1

y:—l—i is:
Vs See Gxample 9 P13
(b) -5 amd problemd 105, o6 P VT

(c) 3 (J—- 5[1)1_..- i L rq_ﬂ ok ’C‘--;; 3 a:».{l\—
(d) -3 '3_ 3 [——‘0% {'l(—n] - 50(\‘7) .,AA<_T‘T>
o [ y-sfony |oeT

*/3*307L~_|2;3,

9. If f(z)=3-2[1—z], where [z] is the greatest integer
function, then the value of f (g) is equal to

e 1 see problomn 43 t 46 P 1]

(b) 13

(c) 9 ;ﬁ(%) :J§~z\f~5;]) :'3”2['3{])

(d) -4

() —5
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3. The sum of all solutions of the equation
(z+1)P=(z+1)"/*+6

is

/?&{ See Wawnp'e c' P 124
17
o — amd Pfab,enm/) 49 50 P.126

b) —13

3 Z _
(c) —26 ‘3@'*2 3: 3+L
B 3 B %;)“/5
(e) 0 23 o _ x+1 - =%
) s
9('“)3: 3 ’
(x+‘i - 17 7t =26 -3 —|j

4. If y—b=m(z—a), then z isequalto

My—bera See @w'e’. | k.4l

’ m

(b) my—bata ol Probleen | b lo PA%

y—b+a
© =2
(d) y—b+ma
m+ ay — ab
@ T
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The sum of all solutions of the equation

5 19
—3'—4|3.'II—6‘———§
is equal to

pe See wle 5 p.g6

ank _Problems 33 k 4% P BE

(b) 6
T~ 9 : - : ~
(c) 3 _5/-—\—L~ = L\’(Sx’“é) -Ltl‘))()( 2)’
3 3
@2 24 oz |r-2] <2
3
(e) 12 _ 2 ~22-2
3 %12.4.% s d ’)L:Z“Lg
— v~ 4
7 _% x = /3
SW = ._i——z:*:_l*
7—3i > =
If i=+-1 and z= TTi —4°1, then the conjugate
of z in standard form is
MWM’% 4 oand S P 7071
zZ=2+4 ‘ c ') 72
lems 4l &t 62 I
(b) Z =2+ 6i amel Probiem
© z=-2-ai 2= Fo3 (=) W
i+ A - A
d) z=-2+4 . . .
() ‘ ' - 7‘ - Fr =3, +3‘2 (//")
() Z=2—6i it B
- 4 -104 LA - 2»5/{-{’/{
2 .

2 - 1 -4
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7. The sum of the real part and the imaginary part of the
complex number 2z = 3(2+51) —2i(2—3i)+v—12-v =27,
where ¢ =+/—1, isequal to

s S problews 13 526 P72

T o AL P Rk ST o)
— £ 4 13X by - €~ VL3 3R

Ej) 2_9; CUa -2y = - S i Ma

(e) 5 ?a-iTw~;»@4@+nA z,_?f

8. Which one of the following sets of ordered pairs (z,y) or
relations defines y as a function of z7

see W‘”"P'C 2 pigl
( {(_3,0)’(0a0)$(1’0)1(770)} MA Prab’f/m/s ', klé

()~ 4y = P1a)
| Sec 2.2

) fechn
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2y? — by — 12
9. The rational expression éz : gg Egy—+4:)3) simplifies to
y?2 — 9y + 18
}a{y—_i See e”“"’"t”e 2 p.s5&
w3 omd problems 57,5€ P63
v) 25 - \-—;';;;;‘;gy R 7
o 2= (_b{,f;)(gfq) (z%/,a)(lgw) |
3 et (g G -G
@ 373 T L) () (2 3) (253
O 4me=3 | o Biﬁ
T 9 -

10.  If the distance between the points A(z + 4,2z) and
B(z,—1) is 5, then the value of 3z —1 when z>0 is

equal to
Sca Problems 15,16 p. 174
5 -
% Sec 2.1
(b) 6
(¢) 5
(d) 3
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11. Thecircle z?+1y?-3z+2y+1=0 [Hint: sketch]

et @xm.,‘)'é 7 VE

% touches the yraxis only oend pra\ﬂm/ﬁ 615672 RIS
(b) touches the z-axis only A P"ﬂb‘ om 76 P 175
(c) touches both the z- and y-axes amdl Py,blom/) as )46 P.176
(@) lies completely above the z-axis  T<¢ 2T
(e) lies completely below the z-axis

12, The equation — i R i 5= m;ﬁ 7 i
See e/xwfe q p.8s

),a’)/a contradiction and PIo b“"’.“"’ 93 & 32 P.¢§&
(b) conditional | +ed = ""7? -Y e D
- ity ) -

(d) equivalent to the equation z =2

(e) equivalent to the equation 3z+1=0

L(x-2) t30+1)= 1T

5 7 - 12 -
T Cleck

f’){ pi (2% = ‘é)

1L
242 1-7 1°-Y

SS. & -
Cotradath™ e
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13. The width of a rectangle is 2 meters more than half the
length of the rectangle. If the perimeter of the rectangle is
120 meters, then its width is equal to

/% meters See %MWP'C 3 P73
blewn 14,20 p.49
5—353 meters 1__,,_?_".'\_{'—,&/ . \/\}) 90
-3 W - .._L(i_ +2- Z( t \

(c) -~ meters oy L aw 260 N L+_l:+l:éo
d) 20 met .
(d) 20 meters 3L+4~6O - 3L 4+l= IZO
(e) 23 meters 2

J ' 1A

3L:44é = L =

3
y g 6
w - .L’_ + L = lik + 2 = 22 ¢ 3
2 3. 3 )
| _ Py
14.  If the discriminant of the equation - ——
z 5
V2a® +kz+ - =0
. 8 : .
is equal to 5 then a possible value of k 1is

S0 WM"P'& 6 b.lo9
ol PYoblems 47 & 56 P13

Wi WLl >

A: b? - 4.64_& bl lél_['-(\ﬁ),‘g: ;’X_

1 4-h
€ 3 k. € -8

. 5 43 2
@ 3 kl‘g,,h&,:ﬁ_,wx?:ﬂﬁ;g_g
(¢) 3 SRR A AN AT B
e
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6x — 27
15. The expression ————— simplifies to
P 5_Jyis—oz P

)63/3[3‘*'\/18‘235] See M\e q P3|
(b) —9[3 + 18— 2z ank Problews lo7 & N2 P33

S _,_____.'—-—-———""'_3
. vig--2
() B+VIE=2) Er-2e) (> VEIr
3 _ Vi§ -2 @ + 13 -220)
(4) 9[3+ V18— 2] %9 4 b Vi€ - 24 _zg,-zm//x-zm
) -B+VE=2Z g _ (15-2x) |
_ 3(2x -9) Vg =25 +ﬂ9(2’,/}‘;5)_.,m
- P 93 w2 ) o
= @’3-"‘/9)(3 l/F?’Z‘:Lw +9) - 3 (3+ Vig -2/«,)

-7

16. If A is the leading coefficient and B is the coefficient
of z in the polynomial

P(z) = (2z — 3)® — (3z — 2)?,

then A+ B =
o 5 omd  problems 1l L 16 P4l

l € L 43
(c) 64 //#Mﬁ P”"Mﬂg q b %4 i
@ 38 P(n) :(;z)@)?)#'%(mlzu £ 3 (a3
(e) %6 —_ ((37(,)L — 2'(3/&)(2) + 4)

oy
W\’/\g\ Uf’\f ’L*/’\' 4«%34/\% \DZMW\ = ( ot
— A i‘

fornn w20 = DA% + 2o =
- = (6

= ¢
At = T4

A
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1 1
2+3c+2 22—-20—3

-5
/m/(xﬂ)(xmxx-g) S22 rample 3 P.59

o) 3 amd Problems 25 32 P 43
@t iz +2)(&-3)

17.

\’ T o \
—9 Ll % —
) (z+1)(z +2)(z — 3) (e + Yot n) (e-3)(nt1)

ey - (hfz)(v«T() (1 -?)

2z +1 .
(d) (z+ 1)%(z+2)(z —3) “ (7(«3‘) _ (?(*7,)
[T e ()

— N

e e s /

(n+ 2)(%-H (‘" 3)

(¢) (x+1)(z+2)(x—U -

16
18.  The domain, in int ti f the functi =
e domain, in interval notation, of the function f(z) JZ i doT 12
is equal to
See WMM"Q q plg?‘
)x( (~oo0,0)

L problemn 27 & 3% P14
) (—00,—6) U (—2,00) g P

o

Ut

© (-6,-2) Sec 2.2

ettt

(d) (~00,—6) U (2,00) J 2P oy e 7 °

ko= 16 - 4(2) <7

(6) (-00,=2U(6,00)

o rea Mwsﬂu\wﬁ
- fe (Ck tﬂ‘o)
=) 7)75‘ (x + *\Zh - y\ _/_(,
S P i

> 2R
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19.  The solution set, in interval notation, of the inequality

—z’ + 1 +6
(z+1)(z2+1) ~

is equal to

S prablews 47 &y 50 PI40

o) UBeo) | e xior-C .
)g)/ s 2

b) [-3,-1)U[2, ,
(b) | ) U [2,00] (o _3) (ra2) S0
\e—-
() [-3,-2]U(=1,00) ('71+\) (%1-&\)
e +l) Lis wo  yoe & 3 ol v
(@ (oomslul= 0 BEPE T S
“x =32 — —_— -— O —+
(e) (—o0, "2]U("1’L n 4L — O :‘"— o —‘,:_ v i
- el — T
—— o VU700 T
o ot T j
5SS+ E ) ’l) U]},V)
920.  One of the factors of 162% —25y*> + 24z +9 s
%41:—5%3 s Prab'em/) g(l 32 b‘5‘l

(b) 4z +5y—3 ( @

(b

(d) 4z +5y+9 \ §2 )( +2,q,7g.§.6 _ 2\ \0
(Lfn 4 5\ (/&j\

/AM+3 - N “D (@“+3+<\ﬁ>
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21. The expression (1+2%) 1+ (1+2z7%)! simplifies to

}‘ﬂ Soo. Pmb'@mA 59 - 62 P &Y

(b) 2+2°+ 73 ’"”’i“” - A o 4 ,,,.‘__/
- — = "“ . '3 '
3 A \+7L3 0+
(c) 1.33;3 A{K o 23 3
0g3 o 0 o0+ }i -1
z Z — T T T
@ 5 (420 [ +207 e

(e) 2(1+2%)

22. If |3—2z| <5 isequivalentto m <5x+2 <n, then

%m—-—3 and n =22 Soe me'& 3 P./32

m=7 and n=22 ok prab'm 17 & 24 P Ho
(© m=-23 and n=27 \ o we1 (_{ Lne?
(d) m=—2 and n=27 5 <~
() m=4 and n=11 m-2 2 =% -2 = 4O
- e ., T =TT —i7
—5 {m-3 g(
2843 L An <\‘?+3 =¥
(% og b
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2
23. When rationalized, the expression % is equal to

YT sa problems o3 k106 P33
Se  also Wwie 6 )’.30
(c) Vizy? 23“3/ §', 3
52xy b\/zg% 9"() 72’9&3@1 q _ W
. n \/.{;5—3~ Vi y? 9" {«Z
(e) Tom5

24. If —1<x <1, then the expression

|22 + 2| + |22 — 2| + /(z — 2)?

simplifies to

Sea PYO})‘%\«A 2l 5— L/D P /é

’ T - 2
}//6—:3 9(1+7_>O = ]9(+2\_9(‘K'
. i - 2. =
(b) 22%+z -2 (l,z L2 = l%L—l\ =
(c) 22—z +2 ( - -
T e S
d) 2—=z . , — DT
?!/'Z;¥ 2 42 ,.?Z/+ z
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25. If z =k isthe solution of the equation 2z =1-+v2 —=z,
then 8k +1=
P See example 6 P 122
(b) 9 omk  Problemn 29 30 p.126
,f - - L=t
@ 1 4 I
S O/Vv\ww{
7 ‘
(e) - L\’%L Z_‘»f)(_—\-' - i”%
ot - - 1= 2
O
(4')& 4 \}(k ”]3
N — -_.‘_ W = \
a0 l -V
X = | -
. j
i i S \/A - (—;4—
W~ —_ 9‘(' ;\> -
—l/\ i _ 1 . \(r?ﬂ?/ sl l ’}2_
- ' a—
, T
= k=
o



